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1 32 oF | 28180.130
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(o I 0.1 uF 28.199.090 R2 500 £ 28.770.870
4 01 pF | 28199.090 R3 I M 28.7170.550
G 01 pF | 28199.090 R4 32000 £ 28.770.400
6 6600 yuF |  28.211.080 RS oy N o0 800
8 7.600 uuF | 28.210.651 Ré "2 M0 28770580
o 64 puF | 28190.770 RS 0] MO 28.770.450
clo | 1000 yuF |  28.190.230 RO 02 MO 28.770.480
cl1 - 40 yuF | 28.190.090 R11 025 MQ 28.770.490
12 320 uuF | 28.190.180 R12 0.64 MQ | 28.770.530
C13 10000 puF | 28.198.990 R14 100 2 28.770.150
C14 100 yuF 28,190,130 N 50000 £ 23.808.290
€15 2000 pplb | 28.199.680 RESP, 64000 Q 28.088.520
Clé 6-600 wuF | 28210950 RESP 80000 Q 28.088.530
€19 50000 uaF | 28.199.820 RIT 2000 £ 28.770.280
C21 1600 yoF | 28190.230 R18 25000 28.770.390
(23 16000 ypF | 28199010 170.
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